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B. Com. 3rd Sem. (Hons.) w.e.f.
Academic Session 2015-16 onwards
(Current Scheme)
Examination - November, 2019

COST ACCOUNTING
Paper : BCHN-3.03

Time : Three Hours ]

[ Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the corvect and complete question paper. No

complaint in this regard, will be entertained after examination.
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Note: Attempt five questions in all, by selecting one
question from each Unit. Question No. 1 is

compulsory. All questions carry equal marks.
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. The standard price of a materia] is fixed at Rs,
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1. Explain the following in brief :

frefifad &1 g8 § aof it
(i) Scope of Cost Accounting.
T W@ & A
(if) Objectives (two) of material control.
i e 3 @ St
(iii) Overtime.
At
(iv) Overhead.
Uit
(v) Unit Costing.
T ST~ aiE|
(vi) Operating Costing.
URER S
(vii) Process Costing.
nf -t
(viii)Contract Costing.

S ATy
UNIT ~ |

T~ |

12 per

;mxt.. The following purchases and issues were made
Aurmg March, 2007, Prepare the Stores Ledger

ccount showing how the cost of materials issued and
value of balance in st

ock will be recorded
standard price method 7 rded under the

92539-2250-{P~B}|{O-Q}(19} (2)
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Dated Particulars Quantity | Rate

Ri# Raer 7T (537%) | Rs. (60)
March 3 | Received (Wifq) | 1,800 units | 12
(3l

8 | Received (mf&) 500 units | /14

15 | Issued (FeFME) | 1,000 units | —
21 | Received (M) 600 units | 11
24 Issue;i (Frtm) 700 units |  —
28 | Received (f%) 900 units | 13
30 | Issued (FRF) 850 units | — |

92539-2250-(P-8)(Q-9)(19) (3)

Also ascertain efficiency of purchasing materials,
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3. Explain the limitations of Cost Accounting in detail.
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s - Il

4. Ajob can be executed either through workman A or g,

A takes 32 hours to complete the job while B finishes i
in 30 hours. The standard time to finish the job is 4q
hours.

The hourly wage rate is same for both the
workers. In addition workman A is entitled to receive
bonus according to Halsey plan (50% sharing) while B
1s paid bonus as per Rowan plan. The works
overheads are absorbed on the job at Rs. 7.50 per
labour hour worked. The factory cost of the job comes
to Rs. 2,600 irrespective of the workman engaged.

Find out the hourly wage rate and cost of raw

materials input. Also show cost against each element
of cost included in factory cost.

ﬁmAmBmmmm%Amﬁw
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T W 7.50 Fo ol der W o ¥ a3 4 wwar
T 2,600 Bo o ¥ o RN A 7o wwr @
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5. What do you understand by classification, allocation e oo Rz & e BEeT @ Rie aR W W
and apportionment in relation to overheads ? At § @9 &9 F g A S A & g TR 3
el 3 g # i, o e feE 8 S Eﬁ@ﬁnﬁﬁ%ﬁawiwm%
7 qAEd 8 7 o o

o= R 20,000 | st o1
-1
= el w5 3,000 | afafeeRd o =
6. From the following details of Small Tools Ltd. 5
. fepd 9T @9 | 1,000
compute profit in Financial Accounts as well as in a7 aﬁ‘g{ﬁ - w=feat
Cost Accounts and reconcile Profit as per Cost and
Financial Accounts showing clearly the reasons for the _. _. | e iEh 1,000 | fmg =3 2,000
- variation of the two profit figures : ”ﬂf ,,aj 500 - 1 000
L Rs. Rs. % % = 2{[}{}[}
Sales 20,000 | Bad Debts 100 = E - .
*‘ draf 50 2 s T
hases of | Interest on overdraft . =
e i 7 7 (a) Tfor Juftem soer 5% 3 300% a2 )
materials | 3,000 2 2
=% =%
| Closing Stock of Profit on Sale of o0 5 g (b) TeEFa SUER™ 1,500 Bo Tga & M
H . ) Acset , . .
Materials 001 S8e = 3 (c) Foreror Sufvam 700 Bo agm Ty
Direct Wages 1,000 | Selling Expenses . 2,000
Indirect Wages 500 | Distribution Expenses | 1,000 7. Draw up a prcf_orma cost statement for Canteen
| Indirect ExPEnsesl 2,000 serving 1000 workers in a factory. The Canteen is

Additional Informations : subsidized by the factory (operative costing).

(a) Manufacturing overheads recovered @ 300% on T B, N FER B 1000 sPE B AT W@E L,

direct wages. 3 [ @ R FEN I
(b} Selling overheads recovered Rs. 1,500. e arEE R ETTTH m]aﬁm}.l - "

(c) Distribution overheads recovered Rs. 700.

92539-2250-(P-8)(Q-9)(19) (5) P.T.O.
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g. Explain the basic principles to be followed in
determining the amount of profit on uncompleted

contracts.

a@%@iﬁmﬁnﬁmﬁ%%mmmﬁm@r
7q T @ @ F

. The following data are available pertaining to 2

product after passing through two processes Aand B:

Output transferred to process C from process B 9120
units for Rs. 49,263.

Expenses incurred in Process C:

Rs.
Sundry materials . 1,480
Direct labour ;6,500
Direct expenses : 1,605

The wastage of process C is sold at Re. 1 per unit. The
overhead charges were 168 per cent of direct labour.
The final product was sold at Rs. 10 per unit fetching a
profit of 20 per cent on sales.

Find the percentage of wastage in process C and
prepare Process C Account.

92539-2250-(P-8)(Q-9)(19)  (7) P.T.O.
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g B ¥ SR C # WG IR 9,120 R
49,263 To H B

" C 7 greq &7 :
%o
fafqy e L 1,480
o S L 6,500
ACHE o1 1,605

Rl C # 9 1 Bo WRY 3HE I SN 31 IR N
I % 168 Hied &4 S IWRT @ 10 To Ry TR
= SR ¥ R W 20 R @ ad B
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Fifo :
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